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1kg=9.81 N  55KG x 9.81=540N da

1.25 (2 584.4 (z 2.74 (= 1288 (<l
Jda
1 SLUG=14.61 KG 40 SLUG x 14.61=584.4 KG

481 (> 814 (z 221 («5.81 (!
da

1Ib=4.45N

155 Ibx 4.45=689.75 N

689.75/9.81=70.31 KG

1KG=9.81N

IN=1/9.81 KG

1 SLUG= 14.61 KG ===== 1 KG=1/14.61 SLUG
70.31 KG/14.61 =4.81 SLUG



f25L o« CM2? 2a 4.015 IN? -Jba
1 IN? = 645.16 MM?

4.05 IN? X 645.16= 2590.3 MM?
2590.3 MM? / 100 = 25.9 CM?
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(WX ) 88l 4l g 4l 5 COSO = Fx/F ===Fx=COS O x F
(LY ) (s3sac 4il 3o 4silas ) s SINO=Fy/F ===Fy=SINO x F
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> X
a5l 4dl 4 COS 60= % —==== Fy=0.5 X IN=0.5N

S3sac s 4il 5o SIN 60= % ====F,=0.866 X 1N =0.866 N



